Year1Reasoning and Prohlem solving.

1) Tom pays exactly 10 pounds for o maths hook.

a)If he uses one note to pay, the
value of the note is ____.

bh)If he uses two notes to pay, the
value of each note is ___

c)If he uses one note and three
coins to pay, the values of the note
and coins are ________ :

2) Tamsin has 3 coins in a bog.

One is silver, one is gold and one is
copper. The copper coin is the
higgest.

The silver coin has the most sides.

The gold coin is round.

- -

What coins couwld Tamsin hawve?

3) Emily hos two silver coins. How much money
might she have?




